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Answer Sheet: Below & Under

Choose the correct answer.

Q1 - Theresults can be seen in the graph given .

v beow

D under

[] Either could be used.

Q2 - Thegoodsthat had not been claimed were sold the Police Property Act.

D below

v' under
I:I Either could be used.

Q3 -Themissionis United Nations control.
D below
v under

Either could be used.

Q4 - The company has been firefrom investor s because of its poor performance this
year.

D below

v' under

I:I Either could be used.

Q5 - Theresultswere average.
I:I below
under

v Either could be used.
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Q6 - She'sfeeling a bit par.

D below
D under

v/ Either could be used.

Q7 - The matter is thejurisdiction of the courts, so they'll decide what to do.

D below

v' under
I:I Either could be used.

Q8 - They manufactureit licence from the parent company.
I:I below
v' under

Either could be used.

Q9 - Their sharepricefel to ten dollarsyesterday.

I:I below
|:| under

v Either could be used.

Q10 - Their boss hasthem all completely her thumb- they arereally scared of her.

I:I below

v under
[] Either could be used.
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